| Name: |  |  |  |  |  |  |  |  |  |  |
|-------|--|--|--|--|--|--|--|--|--|--|
|-------|--|--|--|--|--|--|--|--|--|--|

## U3:L4 MUL+iPLication With Polynomials

To multiply polynomials, you do not need to combine <u>like</u> terms To multiply polynomials, multiply COEFF CLEMTS separately from

Variables Variable multiplication does not need to be separated by <u>Oeqree</u>

## **Multiplying Monomials and Constants**

$$C: (4x^{2})(-3x)$$

$$C: (4x^{2})(-3x) = -12$$

$$V \circ (\chi^{2})(\chi') = \chi^{2+1} = \chi^{3}$$

$$\Lambda_{\circ}(\chi_{s})(\chi_{i}) = \chi_{s+1} = \chi_{s}$$

$$\int_{\mathbf{M}} \times O_{\mathbf{U}} = O_{\mathbf{M}+\mathbf{r}}$$

$$-|2\chi^3|$$

$$C: (-2)(5) = -10$$

$$V: (Way')(Wy') = W^2xy'xW'xy'$$

$$= (W^2xy')(Wy') = W^2xy'xW'xy'$$

## **Multiplying Monomials and Constants by Polynomials**

This process requires us to use the distributive property

$$ax(b-c) = axb-axc$$

Expand and solve:

$$\frac{2(3x-4)}{2(3x-4)}$$

$$\frac{2x}{6x} - 2x + 4$$

$$\frac{6x}{6x} - 8$$

$$\frac{2x(-3x-5)}{(2x) \cdot (-3x)} = (2x)(-3x-6)$$

$$(2x) \cdot (-3x) - (2x)(5)$$

$$-6x^2 - 10x$$

$$-3\rho^{2}(3-5\rho)$$
  
 $(-3p^{2})(3-5p)$ 

$$(-5p^2) \times (3)$$
 —  $(-3)(3)$   $(-3)(3)$   $(-3)(3)$   $(-9p^2)$   $(-9p^2)$ 

$$OO(C(-3)(5) = -15)$$
 $V(-3)(5) = -15$ 
 $V(-3)^{2+1} = p^3$ 
 $V(-3)^{2+1} = p^3$ 

$$-9p^{2}-(-15p^{3})=(-9p^{2}+15p^{3})$$

$$(\frac{2}{3}p^3) \times (\frac{1}{3}p^4)$$

$$(\frac{2}{3}p^4) \times (\frac{1}{3}p^4)$$

$$(\frac{2$$

$$\frac{a^6 - a^3}{2a^4 - 2a^4}$$

$$\left[2a^{7}-2a^{4}\right]$$

**CHALENGE Q!!!** 

X5+9x4+24x3+30x2+8x